HW 2.9 (c) Key

1. Jeff deposits 180 at the end of each year for 17 years into Fund X. Antoinette deposits
180 at the end of each year for 17 years into Fund Y.

Fund X earns an annual effective rate of 9% for the first 8 years and an annual effective

rate of 7% thereafter.

Fund Y earns an annual effective rate of i.

At the end of 17 years, the accumulate value of Fund X equals the accumulated value of

Fund Y.

Calculate i. [3.] #02]
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A 13 year annuity has a series of payments 1, 2, 3, ..., 6,7, 6, ..., 3, 2, 1, with the first payment made at
the end of the second year. The present value of this annuity is 28.78 at interest rate i. A 14-year
annuity has a series of payments 1,2, 3, ..., 6,7,7,6, ..., 3, 2, 1, with the first payment made at the end
of the first year. Calculate the present value of the 14-year annuity at interest rate i. [4.] #01]

34.1 B) 328 C) 335 D) 348 E) 355

34 5 6 7T %A el 12 12 2
——t—tt—t—t—t—t——t————— 229 = (CG\B
| 2 8 M § f Tl e Y1 2 |\
@\ 11 o | | aﬂ = 5_‘ 36:147
]@1 1 (T \ | \
[\ WL A R T A T .
=51 N A T SR R R T L = —7.13\?3-/@.
1 v [ [ B
\9:'3 \ [ R N S T ?
L T T T SR We do~ 4 c\c:\'v-\\y
need g,
e vz 24 § 1 ¥ A o w1z Y
\ } I i 1 \ 4 } 3 4 | } A A i
! t | t \ v v Al bk v T 1 T .
it 2 34 5 &1 7T L SH Y2 PV = G5 Q7
iail‘ Vo (B \ (Q +
= |
= A (Gn +)

-
-_—
—

_— = - =
_—
|

1

A fund is built with annual payments increasing by 1 from 1 to 11, and then decreasing by 1to 0. The
first payment of 1 is made today. If the fund is used to purchase a 11 year level annuity with the first

payment 27 years from today, what is the amount of the level payment? Assume an annual effective rate
of interest of 6%. [4.1 #02]

m At least 40, but less than 41 D) Atleast 41, but less than 42

B)  Atleast 38, but less than 39 E) Atleast 42, but less than 43
C) Atleast 39, but less than 40
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5. Youaregiven § =1/(5+¢) for 0<t<4. Calculate s - [4.d-g #03]
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